
41200-44 TRIM MAC 12 S 02/93 to 04/94 IPL 46800-42 Page 1 of 2
Electric String Trimmer



41200-44 TRIM MAC 12 S 02/93 to 04/94 IPL 46800-42 Page 2 of 2
Electric String Trimmer

Ref # Part Number DescriptionQty
1 322621-00 HANDLE1
2 07025-99 1/4" WASHER2
3 322719-00 KNOB1
4 09076-99 SCREW 1/4 - 20 X 31
5 322623-00 YOKE1
6 13035-99 NUT 1/4 - 201
7 32124-96 SHIELD ASSEMBLY 10"1
8 32125-96 SHIELD ASSEMBLY 12"1
9 322624-00 COVER - HEAD1
10 41200-00 SPOOL W/LINE .0651
11 28008-99 SPRING1
12 322625-00 EYELET1
13 15031-99 SCREW 8 X 3/4 PAN2


